Aluminum Cabinet Pull

UAC szesmns

UAC-AL

P UAC-SG

-

MAN&MACHINE
ELEMENTS

UAC-BL

|
| 1 |
! } ] T E ‘ /
‘ -] 4 <
‘[Tr Hi# H‘—TH 5 . [
1! 1! I |
- L Ll
R L1
L
©
o ST N
o NIEEZENEHIRIF.
‘UAC-20-1 00-AL o HIF MRS % 20mm. 26mm 27,
o ETHUE. 5 TZHNEIR.
UAC-20-100- AL - P o REAEN A5, IIRBESHRERFSHITER,
‘ e " 'h REHS RELE
A AL PRAR L AL
[ BL e
ERRAKENERS RARI N, BEFSESRREM P, REHK
BK BER ()
SG BALR (R)
RD BEEDR ()
o EERNNAREHTRE,
UAC-20—— B9 ER : M5
UAC-26—— B4 EHRE : M6
* RHBANREE,
® SEM M E 2N RERNN AR (SUSXMT ), 1515
1R 22 RS (RS
® MR, REIE O roHs
UAC-AL UAC-BL UAC-BK / UAC-SG / UAC-RD
. Bas Eas B
E7N PRR EAL R RETN BN (RMEE)
?@fﬁ;ﬁfﬂaﬁ) SUSXM7 SUSXM7 SUSXM7
RZZ P >3
B mm
= BiFEHE*T = RLLMTIRS
me c Lc R H h A L L1 Lr o FRQ) oy
UAC-20-100 95 |55 |54 |49 38 |20 |nz2 |00 |19  |1000 76 M5 x 20
UAC-20-112 95 |55 54 49 36 |20 |124 |112 |19 1000 82 M5 x 20
UAC-20-117 95 |55 |54 (49 36 20 129 117 |19 1000 82 M5 x 20
UAC-20-120 95 |55 54 49 36 |20 132|120 |19 1000 88 M5 x 20
UAC-20-128 95 |55 |54 |5 38 20 |140 128 |19 1000 94 M5 x 20
UAC-20-160 95 |55 |54 |5 38 |20 172 160 |19 |1000 112 M5 x 20
UAC-26-116 N 6 64 |55 |38 26 130 |116 |17 1000 157 M6 x 20
UAC-26-120 1 6 64 |55 |38 26 134 |120 |17 1000 158 M6 x 20
UAC-26-132 1 6 64 |55 |38 |26 146 132 |17 1000 178 M6 x 20
UAC-26-164 1 6 64 |57 |40 26 178 |164 |17 1000 209 M6 x 20
UAC-26-179 N 6 64 |57 |40 26 193 |179 |17 1000 209 M6 x 20
UAC-26-196 1 6 64 |57 |40 |26 (210 196 |17 1000 242 M6 x 20
*1: FRANNETEH.
TV ELBES - T EEE = Poxxx & HHRIED = P xxxx
e N, BRABT
N NBK 0512-5290-1560 info@nbk1560-chn.com.cn https://www.nbk1560-chn.com.cn/



